
81,9(56,7<�2)�:,6&216,1�6<67(0

�����)('(5$/�35,25,7,(6

8:�6<67(0è6�21*2,1*�5(63216(�72�7+(�&29,'����3$1'(0,&

*8Ζ'Ζ1*�35Ζ1&Ζ3/(
2XU�XQLYHUVLWLHV�UHPDLQ�RSHQ�ZLWK�VWXGHQWV�LQ�FODVVURRPV�Ȃ�ERWK�LQ�SHUVRQ�DQG�RQOLQH��7R�KHOS�HQVXUH�WKH�FRQWLQXHG�

'$7$�32Ζ176

DVVRFLDWHG�ZLWK�WKH�SDQGHPLF��

7KURXJK�'HFHPEHU�������8:�LQVWLWXWLRQV�KDYH�LQFXUUHG�D�WRWDO�RI��������PLOOLRQ�LQ�&29Ζ'�UHODWHG�FRVWV�DQG�
ORVW�UHYHQXH��LQFOXGLQJ�D�VWDWH�EXGJHW�FXW�RI�������PLOOLRQ�RYHU�)<���DQG�)<���DQG�UHIXQGV�LVVXHG�IRU�KRXVLQJ��

8:�6\VWHP�LV�H[SHFWHG�WR�EH�D�ORVV�RI�DW�OHDVW��������PLOOLRQ��ΖPSRUWDQWO\��KRZHYHU��WKH�8:�6\VWHP�PXVW�

H[SHFWHG�WR�EH�HYHQ�JUHDWHU�

8:�6<67(0è6�
,03$&7�21�:,6&216,1

DFURVV����FDPSXVHV�DQG�D�VWDWHZLGH�H[WHQVLRQ�QHWZRUN��
VHUYHV�DSSUR[LPDWHO\���������VWXGHQWV�DQG�HPSOR\V�

0DUFK�����



$6.�

UHWXUQ�WR�D�SUH�SDQGHPLF�QRUPDO�ZLOO�EH�SRVVLEOH��+RZHYHU��HYHQ�ZLWK�WKH�JHQHURXV�IHGHUDO�VXSSRUW�WR�WKLV�SRLQW��WKH�

PDLQWDLQ�DQG�H[SDQG�RXU�RQJRLQJ�WHVWLQJ��FRQWDFW�WUDFLQJ��DQG�YLUXV�PLWLJDWLRQ�HIIRUWV�DFURVV�RXU�FDPSXVHV�

+($�5($87+25,=$7,21��352027,1*�$&&(66�$1'�'(*5((�&203/(7,21�

*8Ζ'Ζ1*�35Ζ1&Ζ3/(
VW�FHQWXU\�

PRGHO�RI�KLJKHU�HGXFDWLRQ�DQG�WR�JLYH�PRUH�VWXGHQWV�DFFHVV�WR�DQ�DIIRUGDEOH��TXDOLW\�HGXFDWLRQ�

$6.

KRSHV�WR�EH�D�UHVRXUFH�RQ�PDWWHUV�RI�KLJKHU�HGXFDWLRQ�SROLF\��LQFOXGLQJ�RQ�DUHDV�RI�UHJXODWRU\�UHIRUP��LQQRYDWLRQ��DQG�
WKH�SULRULWLHV�LQFOXGHG�LQ�WKLV�GRFXPHQW���

),1$1&,$/�$,'�$1'�678'(17�,19(670(17��:25.,1*�72�,1&5($6(�
$&&(66�$1'�$))25'$%,/,7<�

*8Ζ'Ζ1*�35Ζ1&Ζ3/(�
)LQDQFLDO�DLG�IXQGLQJ�LV�FULWLFDO�WR�RXU�VWXGHQWVȇ�VXFFHVV�DV�LW�SOD\V�DQ�LQWHJUDO�UROH�LQ�DFFHVV��UHWHQWLRQ��JUDGXDWLRQ��DQG�
XOWLPDWHO\��HPSOR\PHQW��

'$7$�32Ζ176�

PLOOLRQ�LQ�ZRUN�VWXG\�IXQGLQJ��

JUDQWV�WR�RYHU��������VWXGHQWV�

$6.�
7KH�8QLYHUVLW\�RI�:LVFRQVLQ�6\VWHP�DVNV�&RQJUHVV�WR�FRQVLGHU�WKH�IROORZLQJ�ZKHQ�ORRNLQJ�DW�ILQDQFLDO�DLG��

6LPSOLI\LQJ�DQG�FRQVROLGDWLQJ�WKH�DUUD\�RI�IHGHUDO�ORDQ�UHSD\PHQW�SODQ�SURJUDPV��

ȊJDSȋ�FUHDWHG�E\�WKH�H[SLUDWLRQ�RI�WKH�SURJUDP��



5(6($5&+�)81',1*�$1'�$:$5'6��
,19(67,1*�,1�5(6($5&+��'(9(/230(17��$1'�,1129$7,21�

*8Ζ'Ζ1*�35Ζ1&Ζ3/(
7KH�8QLYHUVLW\�RI�:LVFRQVLQ�6\VWHP�LV�FRPPLWWHG�WR�UHVHDUFK�WKDW�KHOSV�SURPRWH�HFRQRPLF��VRFLDO��DQG�FXOWXUDO�GHYHORSPHQW�RQ�
DOO�RXU�FDPSXVHV��7R�UHPDLQ�JOREDOO\�FRPSHWLWLYH��WKH�8QLWHG�6WDWHV�QHHGV�WR�LQFUHDVH�LQYHVWPHQWV�LQ�UHVHDUFK�DQG�GHYHORSPHQW��

'$7$�32Ζ176

7KH�8QLYHUVLW\�RI�:LVFRQVLQ�6\VWHP�LV�D�PDMRU�VRXUFH�RI�UHVHDUFK�DQG�LQQRYDWLRQ��ZLWK�PRUH�WKDQ����ELOOLRQ�RI�VSRQVRUHG�

$6.
7KH�8QLYHUVLW\�RI�:LVFRQVLQ�6\VWHP�VXSSRUWV�LQVWLWXWLRQDO�HIIRUWV�WKDW�SURYLGH�PRUH�RSSRUWXQLWLHV�IRU�VWXGHQW�SDUWLFLSDWLRQ�LQ�
UHVHDUFK��DV�ZHOO�DV�H[SDQGLQJ�FDSDFLW\�EXLOGLQJ�LQLWLDWLYHV�DQG�XQGHUJUDGXDWH�UHVHDUFK��6XVWDLQLQJ�Ȃ�DQG��ZKHUH�DSSURSULDWH��
LQFUHDVLQJ�Ȃ�IXQGLQJ�IRU�EDVLF�DQG�DSSOLHG�UHVHDUFK�LV�DOVR�RI�FULWLFDO�LPSRUWDQFH��

)267(5,1*�7$/(17�$1'�',9(56,7<�

*8Ζ'Ζ1*�35Ζ1&Ζ3/(
:H�YDOXH�SURJUDPV�WKDW�LQFUHDVH�FROOHJH�SDUWLFLSDWLRQ�DQG�FRPSOHWLRQ�E\�VWXGHQWV�IURP�DOO�ZDONV�RI�OLIH��:H�VXSSRUW�SROLFLHV�WKDW�
DWWUDFW�WKH�EULJKWHVW�LQWHUQDWLRQDO�VWXGHQWV��IDFXOW\��DQG�UHVHDUFKHUV�DQG�PDNH�WKHP�IHHO�ZHOFRPH�RQ�RXU�FDPSXVHV�DQG�LQ�RXU�
FRPPXQLWLHV��

$6.
7KH�8QLYHUVLW\�RI�:LVFRQVLQ�6\VWHP�VXSSRUWV�HIIRUWV�WR�SDVV�FRPSUHKHQVLYH�LPPLJUDWLRQ�UHIRUP��ZKLFK�LQFOXGHV�VXSSRUW�IRU�
VWXGHQWV�EURXJKW�WR�WKH�8QLWHG�6WDWHV�DV�\RXQJ�FKLOGUHQ�DQG�WDOHQWHG�LQWHUQDWLRQDO�VWXGHQWV�ZKR�ZDQW�WR�UHPDLQ�LQ�WKH�FRXQWU\�
DIWHU�JUDGXDWLRQ��)XUWKHU��ZH�DVN�WKDW�WKH�'XUDWLRQ�RI�6WDWXV�UXOH�FKDQJH��ZKLFK�ZDV�DXWKRUHG�GXULQJ�WKH�ODVW�DGPLQLVWUDWLRQ��
QRW�EH�UHLQWURGXFHG��DQG�IRU�&RQJUHVV�WR�H[DPLQH�WKH�ZD\V�WR�LPSURYH�WKH�HIILFDF\�RI�YLVD�SURFHVVLQJ�DQG�UHYLHZ�ZLWKRXW�
FRPSURPLVLQJ�QDWLRQDO�VHFXULW\�LQWHUHVWV���

&217$&7�,1)250$7,21�
$OOLVRQ�6WHLO
'LUHFWRU�RI�)HGHUDO�5HODWLRQV

DVWHLO#XZVD�HGX

ZLVFRQVLQ�HGX

8:�6<67(0�$&&2817$%,/,7<�'$6+%2$5'
9LVLW�ZLVFRQVLQ�HGX�DFFRXQWDELOLW\ IRU�PRUH�GDWD�RQ�
8:�6\VWHPȇV�SHUIRUPDQFH�DQG�VHUYLFH�WR�:LVFRQVLQ



1Ζ+
���

'('
���

16)
���

'2(
��

'++6
��

$*5Ζ&
��

'2'
��

&200
��

2WKHU
��

)('(5$/�$:$5'6�����������������

$X[LOLDULHV
���

$X[LOLDULHV
���

)HGHUDO
���

*LIWV�DQG
1RQIHGHUDO�

*UDQWV�	�&RQWUDFWV
��

*HQHUDO�*35
���2WKHU

��

��

6WXGHQW
)HHV
���

727$/�5(9(18(6��ZLWKRXW�0DGLVRQ�����������������
)('(5$/�6285&(6��������������

)('(5$/�$:$5'6��ZLWKRXW�0DGLVRQ���
������������

'('
���

16)
��

6%$
��

'++6
��

1Ζ+
��

'2(
��

2WKHU
��

'2-
��

727$/�5(9(18(6����������������
)('(5$/�6285&(6����������������

)HGHUDO
���

���*HQHUDO�*35
���

2WKHU
��

��

6WXGHQW�)HHV
���

$X[LOLDULHV
���

*LIWV�DQG
1RQIHGHUDO�

*UDQWV�	�&RQWUDFWV

8:�6<67(0�)('(5$/�$:$5'6

7KHVH�IRXU�FKDUWV�DUH�IURP�6WDWH�)LVFDO�<HDU������DQG�H[FOXGH�IHGHUDO�IXQGLQJ�IRU�WKH�'LUHFW�6WXGHQW�/RDQ�SURJUDP�


